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GENERAL INSTRUCTION TO THE EXAMINEES:
1. Weeff |duem e T U R AMiG Afarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 91 e &R A 2 |

All the questions are compulsory.

3. U U BT IR & 5 IR gRABT H 2 ford |

Write the answer to each question in the given answer book only.

4. TS ol H AR @Ue 8, I Tl & IR Yeb A1 & ford |

For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U3 BT IR o | Yd U= &1 dhAid a9y ford |

Write down the serial number of the question before attempting it.

6. U UF & &1 T SISl MR # Bl HHR & FfC /R / TR 84 WR f2=iT Ay
D U BT Bl sl A

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. %9 HHib 14 F 18 ¥ <R$ by 2|

There are internal choices in Question No. 14 to 20 .



s — I

SECTION- A
1. ggfdbodTcH® T2
(= xvin): /91 o2l & IR BT Fel f[ddbed a9 dx IR gRAST 4§ faIRag |
Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

(i) Fr=tferRaa o 9 =9 WR amenRa o=+ fafdy & — 7
(67) g1 fafe (@) wige = fafy

() dermaetr fafg () Uiy Hpxor_fafer

The breeding method is based on selection is -

(A) Bulk method (B) Mass selection method

(C) Pedigree method (D) Back cross method

(ii) F=IfeTRa & | &9 A1 gl BT SSH &% © 7 Yy
(31) =féror I™RaT (@) ==

(%) wRd (2) Afdsep!

Which of the following Places is the centre of origin of Turmeric ?

(A) South America (B) China

(C) India (D) Mexico

(iii) U7 T TR TPAld H IY<H DNA TUICIHRST UoligH gereh fvam 1 — Yo
(31) er TadfeHd (@) JderE gR=IgRE

(4) TUNlreRys cSfmRTH ORESIEESRNIRIC

DNA Polymerase enzyme used in PCR technique was isolated from -

(A) Thermus aquaticus (B) Bacillus thuringiensis

(C) Agro bacterium tumefaciens (D) Rhizobium meliloti

(iv) T & O Badb dIc I BITHRD 3faRAT & — Ys
(31) st (@) e

(%) Ppferepry () ¥re

The harmful stage of Wheat stem borer is -

(A) Egg (B) Caterpillar
(C) Pupa (D) Adult
() S & ag § 999 ST AT H BT § — Ys

(31) TSI @) 3



SIRURER @) =ifw

The largest number of termites in a termite colony is -

(A) king (B) Queen

(C)Soldier (D) Worker

(i) TET 3 R ST e I wea B & 7

(31) aR®RA @) 9RT\ HfdHe

@) R BrwEs (@) ISHRA

Towards what does rats develop poison sensitivity ?

(A) Warfarin (B) Barium Carbonate

(C) Zinc phosphide (D) Rhodopherin

(vii) DICT & TRR H YL B & AR W DA b THR 56—
(31) el faw (@) Stex faw

(%) gep (=) Sudw W

On the basis of the entry into the body of insect's, types of insecticides are -
(A) Contact Poison (B) Stomach-Poison

(C) fumigant (D) All of above

(viii) WA H ‘TN Bl vd ARIeb Siig A e urRd gar ?
(@1) 1814 @) 1914

(%) 1952 () 1974

When was the 'Destructive Insects and pests Act' passed in India ?

(A) 1814 (B) 1914

(C)1952 (D) 1974

(ix) PISCIATSHT ST 1T & —

(31) foret &1 WIgettst T (@) ISR BT FGRIHS JAMRIAT IAT
() HTwell BT feeT AT (]) HUTE BT AT AT

The disease caused by Phytoplasma is -

(A) Phyllody disease of sesame (B) Downy meldew disease of millet
(C) Tikka disease of groundnut (D) Cotton wilt disease

(x) TP B =T I, T & 9 fhaer gduq foar S goar g ?

(31) 9IoR BT Wl T (@) 9IS BT R dTell IRT

() HTwerl BT feahr IAT () HUTE BT FATT T
Which of these disease can be managed by, Salt solution ?

(A) Ergot of Bajra (B) Green ear disease of Bajra

(C) Tikka disease of groundnut (D) Cotton wilt disease
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(xi) T @ AT FHTE T BT YGR & —

) ICIELICINI (@) 3fa: doie

(®) arcre () 7ere

The type of Loose Smut of Wheat is -

(A) Externally seed borne (B)Internally seed borne
(C) Air borne (D) Soil borne

(xi)) ATEET DA T & I Bl TeAT Hafdd & —

(a1) aTlRTTEA (@) FAIRST

(%) (@) gweivs

The incident of eradication of Citrous Canker disease, is related to -

(A) Washington (B) Florida

(C) France (D) England

(xiii) TITAROT UG aAH & ©U H UIH B dlell GAPH 8-
(s7) TEpRE () Trfrera

(w) Texifaaw (€) Xige™
Nematode that can be used as an environment pollution indicator is -
(A) Ascaris (B) Panagillus

(C) Enterobius (D) Dracunculus

(xiv) BYY B IcASTT ST DI HET ST & —

(&) g (3) AfBRean

(H) Aredrge GEISICINE]
The excretory organ of earth worm is called -

(A) Kidney (B) Nephridia

(C) Solenocyte (D) Flame cell

(xv) feT Te1 BT TAT oI & —

(a1) siffreT & @) A% |
() e | (@) war &
Grasshopper detects the smell through -

(A) from Antennae (B)from Nose
(C) from the legs (D) from skin

(xvi)‘fﬂ:l pDIRp) mé ST 8—
(1) R # (@) =1 H
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(|) & gd 9 g+ (@) =fve §

Wax glands are found -

(A) In Drone (B) In Queen

(C) Both Aand B (D) In worker
(xvii) fafcia A8 &1 WRoidl 8—

SRR (@) <

(W) efeR TS () e
The parasite of medical importance is -

(A) Flea (B) Leech

(C) Liver fluke (D) Ascaris

(xviii) BRI B ATAT BT WIHI SABT AT B dTell ASel a—
(37) Tefra (@) TTw

(&) grPrIeex (%) STgH
A fish that controls mosquitoes by eating their larvae is -

(A) Gambusia (B) Pancas

(C) Trichogaster (D)AIl of above-

2. Reh Al @ gfd SIS — (04 X)
Fill In the blanks : -

() IRT F e STEEd BT BT Ua Axferd HRaT ¢ |
InIndia ......ccuuueee.. collects and preserves the germplasm .

(i) TR BT UBTT Tl A TAT i dTel &1 H a1y BIaT ® |

Physical poison kill insects by .................... Process .
(iv) T <Y BT I AP 8T B AT SRS B |

.............. is responsible for the water of river Ganga remaining clean.

(v) el & fINTO] T[T [T BT HAROT F&T ST BAD oo &I BIdT 2 |

Peanut clump virus disease is transmitted by soil borne fungus ..................... .
(vi) T & AHE At T H o (1 E @ LT Ydhe B ¢ |
.................... and ...........c.......... Symptoms appear in mustard white rust disease.

(vii) THTERT B FART F uT$ S B, S §gfAd 3T BT SR Bl B |

................. are found in the wall of stomach which neutralize humic acid.
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Locust mouth parts are ......cc.cceeeeennen. .

(ix) FOITAT H oo AWl BT T Wl B ST 2 |
In Vietham ..........cccvvveeee. fish is farmed intensively.
(x) ATl SUTET BT TSI BT oo 9 fear T 7

The increase in fish production has been named ................ .

3. SffcTeTegRIcAS Ued & (I 9 X)
(1 ge=if & TR U Te A1 TS Ufeh # SIfvT)

Very Short Answer type Questions :
(Answer the following question in one word or one line)

() 1ARI T Q=T =T forfRey |

Write the full name of the IARI .

(i) O @ 5 9T &7 Haed dRa d153d b Ui WIS [y ST Febd 27
Virus free plants can be obtained by culturing which parts of the Plant ?

(iii) TRT # oSl & gezaa: fhae ool arg Sl 27 A4 falRag |

Name how many species of locust are mainly found in India ?

(iv) UTSNH ATHeh Pre-mel fod dig & e fhar Sfrar 27

Pyrethrum named insecticide is obtained from which plant ?

(v) BT @1 39 STl & A felRae ST g, & a1 el & Fr1Rdd oRar!
& wu ¥ ur o 7

Write the names of those species of grass which are found as cohosts of Rust of wheat ?
(vi) THTER BT Bhlg &l INRHT &t & 9 fafRay |

Write the names of any two disease resistant varieties of tomato .

(vii) BT TRT BT UHIT fob=T el IR BT &7

Which plants are affected by black slug ?

(viii) P PR & THR U & AT 27

How are worm castings obtained ?

(ix) {2 1 PIs T Hgw Jarsy |

Tell any one importance of grasshopper .

(x) JToTRATE H Rerd a7 SIS d9iId Wd & A1 forfRay |

Write the names of two functional Seed farms (Hatchries) located in Rajasthan .

s — §
SECTION-B
TERICHD Ue — (SR FIAT o9 50 ITeq)

Short answer type questions - (Answer limit approximately 50 words)

4. TGRS JURET W AT I FHA 87 3HSD By al &I SR {71y |

What do you understand by genetic erosion ? Write any two main reasons for it .
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5. ATZUIHARE | MY T FAHI & ? S Pls af o foIfRay |

What is Lipofection? Write any two benefits of it .

6. ST & FRIET WUSRUT H W WM dTell Bl b |raer-al forkay |

Write any three precautions to be taken for safe storage of grains .

7. BRI U S WIR BT AHIfbd = g1y |
Draw a labeled diagram of a handheld knapsack Sprayer .

8. W& T Ud HETRI T I fanfad BTy |
Differentiate between endemic disease and epidemic disease .
9.3/ & TN INT & Ude DI Aigrd H FHNZY |
Briefly explain the management of wilt disease of Guava.

10. 96T & AT &1 foffay |

Write the general charateristics of snail .

11, FAMRER & 9Tl &7 Bl i # FHsey |

Briefly explain the waggle dance of Honey bees .

12. ARl &I 918y HAT BT A = g18Y |

Draw a picture of external structure of aliver fluke .

13. Ul Ud TR Awell died H iR W< By |

Explain the difference between single and mixed fish farming.
yvs — 9
SECTION-C

CTESTRIES U39 — (SR SAHl I THT 100 361)

Long answer type questions - (Answer limit approximately 100 words)

14. <06 HIT BT PN H He<wd FHY |

Explain the importance of tissue culture in agriculture.
3IAdT/OR

S R BT B ¥ e THETT |

Explain the importance of biotechnology in agriculture.

15. fq9To] BT aRYIT v gY AfE auiF FHIf |

Define virus and describe it with illustration.

31dT/OR

BISCIATSH B YRHIYT B gU Al quie Iy |

Define phytoplasma and describe it with illustration.

1Y%
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16. 7% @ AT T & AeT0], INTSIADh BT AW UG T BT quie HIfory |

Describe the Symptoms of ear Cockle of wheat, name of pathogen and its management.
3IAT/OR

TS Y [T & AT, IS BT A UG YEe BT g DI |

Describe the Symptoms of Root Knot disease, name of the pathogen and its management.

gls — §

SECTION-D
fraeTeHe Ued — (STR AT ST 250 I0<G)

Essay Type Questions - (Answer limit approximately 250 words)

17. SR YST | 3T &RIT FHA B 7 IR TSI bl () Dbl
X gRT FAEsy |
What is mutation reproduction? Explain the method of mutation reproduction with a diagram.
3=IdT/OR
HDBROT FAT 57 Al A BT Y@ gRT |93y |
What is hydridization ? Explain the pedigree method with a diagram.
18. 9% &1 Bl HAE! BT dAT1P ¥, VT, & Ud He<d Bl fdda BIfoTg |
Discuss the scientific name, symptoms, damage and importance of Ber fruit fly.
3AdT/OR
AR DI foidell BT deii-id A1H, oleror, &ffd Jd Hg<d &l fddes BT |

Discuss the scientific name, symptoms damage and importance of pomegranate butterfly.



